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QUESTION 1

The storefront integrates with a REST based Address verification service (AVS) that uses token based security. The
sequence of calls in the APl documentation for this AVS looks like the following

1.

Client authentication call, which contains the merchantld and secret in a GET request and returns a token in the
response.

2.

Address verification call, which contains the token and the address to verify in aPOST request.

Once the token is obtained, it is valid for hours and it is not needed to request a new one for subsequent address
verification calls, the AVS charges for every request made no matter if it is client authentication call or address

verification call.

Which three strategies could be applied to allow for efficient use of the service without compromising security? Choose
3 answers

A. Apply page caching to the client authentication controller that is used with AJAX.

B. Obtain the token from local storage of the browser and update it once It expires.

C. Obtain the token from a custom cache before making the client authentication call.

D. Use HTTPService caching for the client authentication call.

E. Use a job to store and update the token in a customobject that is used from the storefront code

Correct Answer: ACD

QUESTION 2

The Client wants to offer custom made container products on its new B2C Commerce storefront. The Client provided
two business requirements.

1.

Customer can specify container length, width, and height.

2.

Customer can specify the material that the container is made of.

The Client also provided the Architect a current data schema (shown below) forreference while preparing the technical
documentation.
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Which two gaps between the requirements and the data schema should the Architect discuss with the Client? Choose 2
answers

A. The data schema includes unique identifiers for material and colorfields, but neither are reflected in the business
requirements.

B. The data schema includes an implied structure that the customer\\'s choices should be captured as custom objects,
but there isn\\'t a business requirement to do so

C. The data schema includes amaterial Price_Markup field, but there Isn\\'t a business requirement to factor the material
cost Into the final price calculation.

D. The data schema includes a Color_ID field, but there isn\\'t a business requirement to allow the customer to specify
container color.

Correct Answer: CD

QUESTION 3

During a review of the most recent release notes, the Architect finds that Salesforce has deprecated an API that is used
throughout the site. After reviewing the deprecated APl usage in Business Manager, the Architect narrows down the
usage of that API to a particular LINK integration cartridge. The cartridge was integrated when the site was first
launched and is heavily customized for the Client.

What is the recommended way for the Architect to remove thedeprecated API so the LINK integration continues to work
without interruptions, and lowest level of effort\\
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A. The Architect should update all the deprecated API cats in the already integrated LINK cartridge and test thoroughly.

B. The Architect does not need to do anything at this time, the API will continue to work with no issues for the
foreseeable future.

C. The Architect should check to see If the LINK cartridge has been updated already, integrate It, apply the
customisations, and teat thoroughly.

D. The Architect should contact the company that created the LINK cartridge to fix the issue and provide the client with
updated code.

Correct Answer: C

QUESTION 4

a B2C Commerce developer has Implemented a job that connects to an SFTP, loops through a specific number of .csv
rtes. and Generates a generic mapping for every file. In order to keep track ofthe mappings imported, if a generic
mapping is created successfully, a custom object instance w created with the .csv file name. After running the job in the
Development instance, the developer checks the Custom Objects m Business Manager and notices there Isn\\'t a
Custom Object for each csv file that was on SFTP.

What are two possible reasons that some generic mappings were not created? Choose 2 answers A. The maximum
number of generic mappings was reached.

B. The generic mappings definition need to be replicated from Staging before running the job.
C. Invalid format in one or more of the .csv files.
D. The job needs to run on Staging and then replicate the generic mappings and custom objects on Development

Correct Answer: AC

QUESTION 5

An ecommerce site has dynamic shipping cost calculation. it allows the customers to see their potential shipping costs
on the Product Detail Page before adding an item to the cart. For this feature, shipping touts are calculated using the
following logic:

1.

Set the shipping method on the Basket

2.

Add the item to the basket, calculate the basket total and get the shipping cost for this method

3.

Remove the item from the Basket to restore the original state

4,

The above process is repeated for each shipping method
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During the testing it was discovered that the above code violates the spi.basket.addResolvelInSameResquest quota.

What should the Architect do to resolve this issue and maintain the business requirement?

A. Omit the removal of the Item and speed up the process for the customer by adding the product to the basket for
them.

B. Omit the calculation of shipping cost until the customer is ready to check out and has chosen the shipping method
they want to

C. Wrap each Individual step of the process its own transaction Instead of using one transaction for all steps.

D. Wrap the adding of product and shipping cost calculation in a transaction which Is then rolled back to restore the
original state

Correct Answer: B
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